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~ f@include <Std'i.0.h>[ ‘y;t
— enplate <class D 94'
T square(T x) { e

return (X*x);

1}
—1int main(void) {
int 12, 1

float f2, f
double d2, d

2;
3.0;
4.0

,

12
f2
d2

squareginty(i);
square<i@t>(f);
square<iat>(d);

printf("i= %d 12= % \n", i1, 12);
printf("f= %f f2= %f \n", f, f2);
printf("d= %f d2= %f \n", d, d2);

return 0;




// Swap two elements in a generic array
template<typename E>

inline void Gwap(EQA[), int i, int j) {

E temp = A[i];
Al1] = A[]];
A[]] = temp;

}

// Random number generator functions




N izo i) iz i3 -
/7
0 . Vi /./ &
8y ’ / :
. ! .
J:’- " ;l . ll
\)‘ 3 l" l ! .P/ a,
7 4 ‘
N . Y - o« N\
qor (120, (&5, ¥4a)
for (520, H<§. ¥4
o i) 122 v3 4G
'ﬂ" 0 — }
SL -
J=1 =+
:)' 3 -~ }J
Je 4 =

for (320, 94§ 1tg)

for ({203 (<8 xca)




(A 2 3 5
4 E@ 13 13
4‘ 17T] |14
7 @ 4 20| |17
13 13 (03 1. 28/ | |20
28 28 28 (2B (4 28
14 14 14 T4 4
23 23 23 23 23
5 15 15 15 15 15

template <typename E, typename Comp>
void inssort (E A[], int n) { // Insertion Sort
for (int i=1l; i<n; i++) // Insert i’th record
for: (int j=i; (j>0) && (Comp::prior(A[j]£L§|j—1])); J—=)
swap(d, j, j-1); A
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template <typename E, typename Comp>
~ woid bubsort (E A[], int n) { // Bubble

for (int i=0; i<n-1; i++) // Bubl

for (int j=n-1; j>i; j—-)
if (Comp: :prior(A[jlL A[j—i] ))

swap (&, j, j-1)7
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template <typename E, typename Comp>
void selsort (E A[],

for (int i=0;

i<n-1;

i++) {

int n) { // Selection Sort
// Select i’th record

int lowindex = i; // Remember its index —
for (int j=n-1; j>i; j--) // Find the least value
Comp: :prior( [lowindex]))
lowindex = j; // Put it |in place —
wap (A, (1) {(fowindex); o
}
} I
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